4

v

2

MODEL 3200/3220/3300/240 UP TO 16°2"W x 18'0"H

CLOPAY MODEL 3200:
CLOPAY MODEL 3220:
CLOPAY MODEL 3300:
HOLMES MODEL 240:

24 GA.
20 GA.
24 GA.
24 GA.

EXTERIOR STEEL SKIN
EXTERIOR STEEL SKIN
EXTERIOR STEEL SKIN
EXTERIOR STEEL SKIN

OPTIONAL ALUMINUM

FULL VISION WINDOW
LITE SECTIONS
AVAILABLE (1/8"
DSB, 1/8" PLEXI,
1/4” WRE, 1/2"
INSUL.). FULL VISION
SECTIONS TO HAVE

Vi

Vi

o

o

(1) 1-1/4" x
1-1/4" x 1/8" (MIN)
ALUMINUM ANGLE
PER SECTIONS. N/A
FOR 3300 MODEL.

A N N
A A A
£4 v v \V; e
TONGUE AND
GROOVE JOINTS
! A A A
2 A A A
o v v v e

1.95” THICK, 1
EXPANDED POL

INTERIOR SKINS.

FRONT AND BACK SKIN OF DDOR

DENSITY
TYRENE
FOAM INSULATION LAMINATED
TO BOTH EXTERIOR AND

ATTACHMENT ILLUSTRATIONS”

18 GA. MIN.

REVISIONS
REV. NO.,| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
3 THICK 23300) 01 - 12/19/07 | EN1439 SH REVISED STRUTS QUANTITY
2" THICK (3200, 3220, 240)
SILICONE FILLED CHANNEL SEPARATES SEE "JAMB

STOP MOULDING BY DOOR
INSTALLER (TO SUIT)

GALV. STEEL END STILE

) (END STILES HELD BY HINGE SCREWS)
| | |

12 GA. GALV. STEEL TOP ROLLER
BRACKET. EACH BRACKET ATTACHED
W/4 #14X5/8" SHEET METAL SCREWS.

12 GA. GALV. STEEL TRACK BRACKETS

FASTENED

TO JAMB WITH

SHEET METAL SCI

14 GA. GALV. STEEL ROLLER (END)
i S TR e
X
el

5/16"x1—-5/8" LAG SCREW
(FOR STEEL JAMBS: USE CONTINUOUS
ANGLE TRACK OR REVERSE ANGLE TRACK)

2" GALV. STEEL TRACK FASTENED TO
12 _GA. GALV. STEEL TRACK BRACKETS.
TRACK ATTACHED TO EACH BRACKET
WITH TWO 1/47 RIVETS.

OR ONE 1/4" BOLT & NUT

14 GA. GALV. STEEL ROLLER HINGE

\ 2-1/4'x20 GA, STEEL STRUT AT TOP OF

U-BAR ATTACHED WITH @ ¥’ x ¥
SELF-TAPPING SCREWS PER STILWE
LOCATION.

27 GA. STEEL INTERIOR SKIN WITH
GALVANIZED, BAKED—ON PRIMER

SECTIONS AS SPECIFIED IN TABLE. EACH

AND A BAKED—ON POLYESTER PAINTED TOP COAT.
12 GA. GALV. STEEL BOTTOM BRACKET.
ATTACHED W/(4) #14x5/8" SHEET METAL SCREWS.

ALUMINUM EXTRUSION
& VINYL WEATHERSTRIP.

24 GA. MIN. STEEL EXTERIOR SKIN WITH

GALVANIZED, BAKED—ON PRIMER

AND A BAKED—ON POLYESTER PAINTED TOP COAT.

2,000 PSI MIN
CONCRETE

3/8" x 3 (1-1/2"
MIN. EMBED) SLEEVE
ANCHOR. WASHER

INCL'D. 24" MAX. 0.C.
TO SECURE 2x6 JAMB

| TO CONCRETE. C'SINK
= y IF NEEDED.

4GA. BRACKET MOUNT OR

CONTINUOUS ANGLE MOUNT TRACK
FASTENED TO 2x6 #2 OR BETTER
YELLOW PINE JAMB WITH

ONE 5/16"x1-5/8" LG.

LAG SCREW PER BRACKET

OR TRACK CLIP LOCATION.

2,000 PSI MIN
CONCRETE

EMBED)
SELF—TAPPING
CONCRETE ANCHOR.
1" WASHER REQ'D.
24" MAX. 0.C. TO
SECURE ANGLE TO
CONCRETE.

REVERSE OR CONTINUOUS
ANGLE MOUNT TRACK
FASTENED DIRECTLY

TO CONCRETE.

1/4"x3" (1-1/2" MIN.

MAY BE BACK—FILLED
WITH CONCRETE, BUT
NOT REQUIRED FOR

SELF TAPPING SCREW.

3/16" MIN. STEEL
JAMB

1/47x3/4"
SELF TAPPING
SCREW.

21" MAX. O.C.
TO SECURE
ANGLE TO
STEEL JAMB.

12 GA. REVERSE OR
CONTINUOUS ANGLE
MOUNT TRACK FASTENED
DIRECTLY TO STEEL JAMB.

7 VZ VZ VZ
SECTION A—A
/ A A JAY (4) #14x5/8" SHEET
\V \V/ v, METAL SCREWS
N N 14 GA. END HINGE 14 GA. INTERMEDIATE HINGE
il It SLIDE BOLT
L LOCK LOCATION —J END LOCK
OPTIONAL 24°x14” (MAX) DSB Lo - A STILE ENGAGES INTO
OR INSULATED GLASS ONE SIDE (MIN) VERTICAL
TRACK. ONE
WINDOW LITES . LOCK (M|N) ON
MAX. 16°2" WIDE SIDE OF DOOR.
INSIDE_ELEVATION
ANCHOR NOTE: FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. INSIDE_SLIDE_BOLT
HIGHEST ANCHOR INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING.
WOOD JAMB ON CONCRETE CONCRETE JAMBS STEEL JAMBS WOOD JAMBS

3/8"x3" (1-1/2"
MIN. EMBED) LAG
SCREW. 1—1/8"
WASHER REQ'D.
24" MAX. 0.C. TO
SECURE 2x6 WOOD
JAMB TO WOOD

STRUCTURE. C'SINK
IF NEEDED.

12 GA. BRACKET MOUNT OR
CONTINUOUS ANGLE MOUNT TRACK
FASTENED TO 2x6 #2 OR BETTER
YELLOW PINE JAMB WITH

ONE 5/16"x1-5/8" LG.

LAG SCREW PER BRACKET

OR TRACK CLIP LOCATION.

#14x5/8" SHEET METAL SCR

PREPARATION OF JAMBS BY OTHERS.

LHR TOP BRACKET

FASTENED TO END STILES W 6142 EACH

2" STEEL ROLLER WITH STEEL OR NYLON TIRE

14 GA. GALV. STEEL INTER. HINGE
FASTENED TO INSIDE SKIN W,
EACH #14x5/8” SHEET METAI

4
(S)CREWS.

DOUBLE HORIZONTAL

HORIZONTAL TRACK SUPPORT BY
DOOR INSTALLER (TO SUIT)

13 GA. GALV. STEEL FLAG BRACKET.
EACH FASTENED TO WOOD JAMB WITH
(3) 5/16"x1—5/8" WOOD LAG SCREW.

TRACK CONFIGURATION

| TYP. 2—1/2"x12 GA. GALV. STEEL TRACK BRACKET.

Ex EACH TRACK BRACKET FASTENED TO WOOD JAMB

WITH ONE 5/16"x1—5/8" WOOD LAG SCREW. (FOR
STEEL JAMBS: SEE JAMB DETAILS FOR FASTENER

-

NO. OF U-BARS PER SECTION )

[T}

SECTION NUMBER =

DOOR HEIGHT S TS5 T4 151617 879 x

UP 10 8707 T{o] 1l -1-1-1-1- S
83" 10 100° 010 I =] -1=-1~-

0'3”_T0 12°0° 1lof1lo[1[-[-[- I

2’3" 10 140" ol1lof[1[-[1[-1= =

4’3" _TO 16'0” tlol1lo[1l0[1 e

6’3 _TO 180" 0l1lol1[0[1T01 ES

2

-4

o

o

\BO'I'I'OM SECTION

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS
REGIONS (REFER TO CHAPTER 16 FBC / IBC).

THIS DOOR MEETS OR EXCEEDS THE DESIGN
LOADS FOR THE WIND SPEEDS LISTED BELOW
ACCORDING TO THE INTERNATIONAL

BUILDING CODE FOR THE FOLLOWING
CONDITIONS: 1) ENCLOSED BUILDING, 2) DOOR
HAS 2’ OF WIDTH IN BUILDING’S END ZONE,

THE DESIGN OF THE
SUPPORTING STRUCTURAL

ELEMENTS IS THE RESPONSIBILITY

OF THE BUILDING ENGINEER OR
ARCHITECT OF RECORD.

3) IMPORTANCE FACTOR OF 1.0, 4) ANY ROOF
SLOPE, AND 5) 50% SAFETY FACTOR.

WIND SPEED (MPH)| <90
EXPOSURE LEVEL B
MEAN ROOF HEIGHT|<30’

SPECIFICATIONS.)

— a\
N . 2" GALV. STEEL TRACK,

i TRACK THICKNESS: .060”
TRACK ATTACHED TO
TRACK BRACKETS WITH
TWO 1/4” DIA. RIVETS.

NOTE: DOUBLE TRACK LOW

FOLLOW—-THE—ROOF TRACK,
VERTICAL LIFT TRACK ARE

ALSO AVAILABLE.

MARK WESTERFIELD, P.E.

1 HEADROOM, HI-LIFT TRACK,

AND

AVAILABLE OPTIONS. 3" TRACK

FLORDA B.E f48495,
NC P.E. #23852, TEXAS P.E. #91513
DESIGN LOADS: +13.5 PSF & —-13.5 PSF
TEST LOADS: +20.0 PSF & —20.0 PSF

PART NO.:

Third Angle
Projection

Unless Stated Otherwise

TOLERANCES are

= Glopay

8585 Duke Boulevard
Moson, OH 45040
Tel. No. 1-513-381-4800

W1

CLOPAY WINDLOAD RATING

0 = +.03 Bmldmg Products Company ~ Fax No. 1-513-762-3519
.688: i:gég DESCRIPTION: MODEL 3200W1 16’WIDE
0000 = +.001 DRAWN BY: BFA DATE: 1/30/06 | SCALE: NTS DWG.
Degrees = +1/2° |CHECKED BY: SH DATE: 1/30/06 |SHEET 1 OF 1 |SIZE

Unless Stated Otherwise

DIMENSIONS ARE IN INCHES.|DWG. NO.: 103611

3

N

2




